Let’s use the proportionality property of linear circuits to find the current Ix.
We first set Ix to an arbitrary simple value.

This now says we do not know what the input value of the source is.

Since we know we have 1 amp through the 100 ohm resistor, we can multiply these values to give 100 volts.

Be sure to always use passive sign convention.

Since no current flows to the right, we have 1 amp flowing through the 25 ohm resistor.

This gives 25 volts across this element.

Now to get the voltage across the 50 ohm resistor, we can observe that it is in parallel with the 25 and 100 ohm resistors which gives 125 volts.

We can then find the current through this resistor using ohms law.

Now we can use KCL to sum the currents which gives 3.5 amps.
Also notice that the 125 volts develops across the 75 ohm resistor.

Therefore, we can find the current through this resistor.

Two currents enter the source branch, which can then be summed.

This gives 5.17 amps.

Notice that this conflicts with the defined direction of the current source.

So we reverse the sign to make -5.17 amps.

If 4 amps produces Ix and -5.17 amps produces 1 amp, we can write a proportional expression and solve for Ix.

This gives -0.774 amps as the final solution.

